FEI74vh"C1SYU—=X

® IU¥(X

ot T F | Hxg
a2 & a7l P v | k| w | s | A ZigZlcam| O | o |Eiwe mawEn =R
(mm) | (R*M) | (mm) (mm) | (mm) (mm) mm) | (mm) | (mm) | (mm) | (mm) | (mm) | (mmd) (@
ET3-M5-C1S 3 M5X0.8| 12.5 13.0 16.0 25.0 35 11 7.0X7.7 6.3 25 1.5 1.5 2.0
ET4-M5-C1S 4 M5X0.8| 17.7 20.2 251 35.3 4.0 14 10.0X11.0{ 10.0 2.0 2.0 3.0 8.0
%| ET4-R1/8-C1S 4 R1/8 17.7 238.7 28.6 35.3 9.0 14 10.0X11.0{ 10.0 5.0 3.0 4.0 10.0
ET6-M5-C1S 6 M5X0.8| 18.9 227 29.0 37.9 4.0 15 12.0X13.0{ 13.0 2.0 2.0 3.5 12.0
| ET6-R1/8-C1S 6 R1/8 18.9 26.2 325 37.9 9.0 15 12.0X13.0 13.0 4.5 45 12.0 14.0
| ET6-R1/4-C1S 6 R1/4 18.9 30.2 36.5 37.9 12.0 15 14.0X154| 13.0 7.0 45 12.0 21.0
| ET8-R1/8-C1S 8 R1/8 21.1 29.2 36.5 42.2 9.0 16 140X154| 15.0 6.0 6.0 18.5 18.0
| ET8-R1/4-C1S 8 R1/4 21.1 31.2 38.5 422 12.0 16 140X154| 15.0 6.5 6.5 23.0 24.0
Ls %| ET10-R1/4-C1S 10 R1/4 25.0 37.2 46.0 50.0 12.0 19 17.0X185| 18.0 8.0 8.0 345 34.0
L1 #%| ET10-R3/8-C1S 10 R3/8 25.0 37.2 46.0 50.0 14.0 19 17.0X185| 18.0 9.0 8.0 37.0 39.0
IF 3%| ET12-R3/8-C1S 12 R3/8 26.7 38.7 48.8 53.4 14.0 20 19.0X21.0{ 20.5 10.0 10.0 43.0 48.0
= #%| ET12-R1/2-C1S 12 R1/2 26.7 417 51.8 53.4 16.0 20 22.0X24.0[ 20.5 12.0 9.5 43.0 65.0

T o KEZTEER

La
L2
f

(LT ® 1 FY1(X
< [N\ SER T | D56 e [EoEEn| HE
=} a— - — i D d1 4N
@ & se’ | vax L1 L2 La Ls A |Eigi| —EE X
$d1 T (inch) | (M) (mm) | (mm) | (mm) | (mm) (mm) | (mm) | (mm) | (mm) | (mm) | (mm) | (mm?) (@)
ET1/8-M5-C1S 1/8 |M5X0.8| 176 | 262 | 325 | 352 9.0 15 [120X130| 13.0 45 4.5 13.0 5.0
M1 U
A<l
/ $d1
T/ g8 \#izgobtiz
z
=
=
\y
[ RO EPS
%sﬁmj #aTu oo d IR | B | EE
o 5= 21=7| — =iz D 1 X
2 B Sia| o L1 L2 Le L7 Ls A Fipx| —E® W [
(mm) |R-M)| (mm) [ (mm) [ (mm) | (mm) | (mm) | (mm) | (mm) | (mm) | (mm) | (mm) | (mm) [ (mm?) (9)
EST4-M5-C1S 4 |M5X08| 17.7 | 202 | 17.7 | 37.9 | 232 | 4.0 14 |100X110| 10.0 | 2.0 2.0 3.0 8.0
%| EST4-R1/8-C1S 4 | Ri/8 | 177 | 237 | 17.7 | 404 | 232 | 90 14 [100Xx110| 10.0 | 5.0 3.0 40 | 100
EST6-M5-C1S 6 |M5X0.8| 18.9 | 27.7 | 189 | 416 | 254 | 4.0 15 |120x130| 13.0 | 2.0 2.0 35 | 12.0
%| EST6-R1/8-C1S 6 | Ri/8 | 189 | 262 | 189 | 441 | 254 | 9.0 15 |120x130| 13.0 | 45 45 120 | 14.0
%| EST6-R1/4-C1S 6 | RI/4 | 189 | 302 | 189 | 481 | 266 | 120 | 15 |140X154| 13.0 | 7.0 45 120 | 21.0
| EST8-R1/8-C1S 8 | Ri/8 | 211 | 292 | 211 | 483 | 288 | 9.0 16 |140X154| 15.0 | 6.0 6.0 185 | 18.0
%| EST8-R1/4-C1S 8 | RI/4 | 211 | 312 | 211 | 523 | 288 | 120 | 16 |140X154| 150 | 65 6.5 230 | 24.0
%| ESTI0-R1/4-C1S | 10 | R1/4 | 250 | 372 | 250 | 622 | 343 | 120 | 19 |[i70Xi85) 18.0 | 80 8.0 345 | 34.0
e %| EST10-R3/8-C1S | 10 | R3/8 | 250 | 37.2 | 250 | 622 | 343 | 140 | 19 |[170Xi85| 180 | 9.0 8.0 37.0 | 40.0
5 I %| EST12-R3/8-C1S | 12 | R3/8 | 267 | 387 | 267 | 654 | 37.2 | 140 | 20 |[19.0X210| 205 | 10.0 10 430 | 480
A E %| ESTI2-R1/2-C18 | 12 | R1/2 | 267 | 417 | 267 | 684 | 387 | 16.0 | 20 [220X240| 205 | 120 | 95 | 430 | 650
g o — HETEES
=H I
el
T

=

Hxé T

MaaL T
A\
o]
-
5
8 A
HRY M

115



